

B- نهج اول

حل المسألة

$$\wedge \cos x - \tan^2 x = 1 \rightarrow \wedge \cos x = 1 + \tan^2 x \Rightarrow \wedge \cos x = \frac{1}{\cos^2 x} \quad (1)$$

$$\xrightarrow{\cos x \neq 0} \cos^3 x = \frac{1}{\wedge} \rightarrow \cos x = \frac{1}{\sqrt{\wedge}} \rightarrow x = 2k\pi \pm \frac{\pi}{\sqrt{\wedge}} \xrightarrow{x \in [0, 2\pi]}$$

$$x = \left\{ \frac{\pi}{\sqrt{\wedge}}, \frac{5\pi}{\sqrt{\wedge}} \right\} \Rightarrow \text{جواب دارد}$$

$$\wedge \sin^2 x + \sqrt{\wedge} \cos^2 x = -2 \Rightarrow \sqrt{\wedge} \cos^2 x \leq -2 \rightarrow \cos^2 x \leq -1 \quad (1)$$

$-1 \leq \cos^2 x \leq 1 \xrightarrow{\text{ممنوع}} \cos^2 x = -1$

$\xrightarrow{\cos^2 x = -1} \sin x = 0$

$$\Rightarrow x = \{k\pi\} \cap \left\{ \frac{2k\pi \pm \pi}{\sqrt{\wedge}} \right\} \xrightarrow{x \in [-\pi, \pi]} \Rightarrow x = \{-\pi, \pi\}$$

$$\sqrt{\wedge} \sin x \cos \sqrt{\wedge} x + \sin x = 1 \rightarrow \sin x (\sqrt{\wedge} - \sqrt{\wedge} \sin^2 x + 1) = 1 \quad (1)$$

$-2 \sin^2 x + 1$

$$\rightarrow \sqrt{\wedge} \sin^2 x - \sqrt{\wedge} \sin x - 1 = 0 \quad \xrightarrow{a+b+c+d=0} \sin x = 1 \quad \text{ممنوع}$$

$a x^2 + b x + c + d$

$$\Rightarrow (\sin x - 1)(\sqrt{\wedge} \sin^2 x + \sqrt{\wedge} \sin x + 1) = 0 \rightarrow (\sin x - 1)(\sqrt{\wedge} \sin x + 1) = 0$$

$$\Rightarrow \begin{cases} \sin x = \frac{1}{\sqrt{\wedge}} \rightarrow 2k\pi + \frac{\pi}{\sqrt{\wedge}}, 2k\pi - \frac{\pi}{\sqrt{\wedge}} \\ \sin x = 1 \rightarrow 2k\pi + \frac{\pi}{2} \end{cases} \xrightarrow{x \in [0, 2\pi]} x = \left\{ \frac{\pi}{\sqrt{\wedge}}, \frac{\pi}{2}, \frac{3\pi}{2} \right\}$$

$$\boxed{S = \frac{\pi}{\sqrt{\wedge}}}$$

$$\frac{1}{\sin\left(\frac{\pi}{\sqrt{\wedge}} + \sqrt{\wedge}x\right)} + \frac{1}{\cos\left(\frac{\pi}{\sqrt{\wedge}} + \sqrt{\wedge}x\right)} = 0 \rightarrow \frac{1}{\cos \sqrt{\wedge}x} - \frac{1}{\sin \sqrt{\wedge}x} = 0 \quad (1)$$

$$\rightarrow \frac{\sqrt{\wedge} \sin \sqrt{\wedge}x - 1}{\sin \sqrt{\wedge}x} = 0 \xrightarrow{\sin \sqrt{\wedge}x \neq 0} \sin \sqrt{\wedge}x = \frac{1}{\sqrt{\wedge}} \rightarrow \sqrt{\wedge}x = \begin{cases} 2k\pi + \frac{\pi}{\sqrt{\wedge}} \\ 2k\pi + \frac{5\pi}{\sqrt{\wedge}} \end{cases}$$

$$\Rightarrow x = \begin{cases} k\pi + \frac{\pi}{\sqrt{\wedge}} \\ k\pi + \frac{5\pi}{\sqrt{\wedge}} \end{cases} \xrightarrow{\sin x \neq 0} \begin{cases} x_1 = \frac{\pi}{\sqrt{\wedge}} \\ x_2 = \frac{5\pi}{\sqrt{\wedge}} \end{cases} \Rightarrow x_2 - x_1 = \frac{4\pi}{\sqrt{\wedge}} \rightarrow \tan \sqrt{\wedge}x = \tan \frac{\pi}{\sqrt{\wedge}} = \boxed{-\sqrt{\wedge}}$$

$$m(\cos x - \sin x) - \sqrt{4} \sin 2x = \sqrt{4} \rightarrow -\sqrt{4} \cdot m(\sin(x + \frac{\pi}{4})) - \sqrt{4} \sin 2x = \sqrt{4} \quad (a)$$

$$\rightarrow m(\sin(x + \frac{\pi}{4})) + \sqrt{4} \sin 2x = -\sqrt{4} \quad \cos(x + \frac{\pi}{4}) = \frac{\sqrt{4}}{r} \rightarrow \sin(\frac{\pi}{4} - x - \frac{\pi}{4}) = \frac{\sqrt{4}}{r}$$

$$\Rightarrow \cancel{m} \frac{\sqrt{4}}{r} + \cancel{(-)\sqrt{4}} \sin 2x = \cancel{-\sqrt{4}} \rightarrow \frac{1}{r} m - \sqrt{4} \sin 2x = 1 \Rightarrow$$

$$\frac{m - r}{4} = \sin 2x \quad \cos(x + \frac{\pi}{4}) = \frac{\sqrt{4}}{r} \Rightarrow x = \begin{cases} \frac{r}{4}k\pi - \frac{\pi}{14} \\ \frac{r}{4}k\pi - \frac{5\pi}{14} \end{cases} \quad \frac{m - r}{4} = -\frac{1}{r} \Rightarrow \boxed{m = -\frac{r}{r}}$$

$$\sin(x + \frac{\pi}{4}) \cdot \cos(x - \frac{\pi}{4}) = \sin(\pi - (x + \frac{\pi}{4})) \cdot \sin(\frac{\pi}{4} - (x - \frac{\pi}{4}))$$

$$\Rightarrow \sin(\frac{\pi}{4} - x) \cdot \sin(\frac{\pi}{4} - x) = 1 \Rightarrow \sin(\frac{\pi}{4} - x) = \pm 1 \rightarrow$$

$$\begin{cases} \sin(\frac{\pi}{4} - x) = \sin(\frac{\pi}{4}) \rightarrow x = \frac{\pi - 4k\pi}{4} \\ \sin(\frac{\pi}{4} - x) = \sin(\frac{3\pi}{4}) \rightarrow x = \frac{-\pi - 4k\pi}{4} \end{cases} \quad x \in [0, 2\pi] \rightarrow \boxed{x = \left\{ \frac{\pi}{4}, \frac{3\pi}{4} \right\}}$$

$$\sin x + \sqrt{4} \cos x = \sqrt{4} \rightarrow \frac{1}{r} \sin x + \frac{\sqrt{4}}{r} \cos x = \frac{\sqrt{4}}{r} \rightarrow \quad (v)$$

$$\cos(x - \frac{\pi}{4}) = \cos(\frac{\pi}{4}) \Rightarrow x - \frac{\pi}{4} = k\pi \pm \frac{\pi}{4} \Rightarrow x = \begin{cases} \frac{r}{4}k\pi + \frac{\pi}{4} \\ \frac{r}{4}k\pi - \frac{\pi}{4} \end{cases}$$

$$x \in [-\pi, \pi] \rightarrow \boxed{x = \left\{ -\frac{\pi}{4}, \frac{\pi}{4}, \frac{3\pi}{4} \right\}} \rightarrow \boxed{S = \frac{9\pi}{4}}$$

$$r \sin x \sin(\frac{r}{4} - x) = -r \sin x \cos x = -r \sin 2x = 1 \quad (A)$$

$$\rightarrow \sin 2x = -\frac{1}{r} \rightarrow 2x = \begin{cases} k\pi + \frac{\pi}{4} \\ k\pi + \frac{3\pi}{4} \end{cases} \rightarrow x = \begin{cases} \frac{k\pi - \pi}{2r} \\ \frac{k\pi + \pi}{2r} \end{cases} \quad x \in [0, 2\pi] \rightarrow x = \left\{ \frac{3\pi}{4}, \frac{5\pi}{4} \right\}$$

$$\boxed{S = 2\pi}$$

$$\frac{19\pi}{14}, \frac{25\pi}{14}$$

$$(1 + \cos^2 a)(1 + \cos^2 a)(1 + \cos^2 a) = \frac{1}{\Lambda} \xrightarrow{x \sin^2 a} \frac{1}{\Lambda} \sin^2 \Lambda a = \frac{1}{\Lambda} \quad (9)$$

$$\rightarrow \sin^2 \Lambda a = 1 \rightarrow \sin \Lambda a = \pm 1 \rightarrow \begin{cases} \Lambda a = k\pi + \frac{\pi}{2} \rightarrow a = \frac{k\pi}{\Lambda} + \frac{\pi}{2\Lambda} \\ \Lambda a = k\pi + \frac{3\pi}{2} \rightarrow a = \frac{k\pi}{\Lambda} + \frac{3\pi}{2\Lambda} \end{cases} \quad x \in [0, \pi] \rightarrow \boxed{a = \frac{19\pi}{14}, \frac{25\pi}{14}}$$

$$\tan(\psi_n) \cdot \tan(x) = 1 \rightarrow \frac{\sin \psi_n}{\cos \psi_n} = \frac{\cos x}{\sin x} \rightarrow$$

(10)

$$\cos \psi_n \cdot \sin x - \sin \psi_n \cos x = 0 \rightarrow \sin(x - \psi_n) = 0$$

$$\psi_n = k\pi \pm \frac{\pi}{4} \rightarrow x = \frac{k\pi}{4} \pm \frac{\pi}{4} \xrightarrow{x \in [0, \pi]} x = \left\{ \frac{\pi}{4}, \frac{3\pi}{4}, \frac{5\pi}{4}, \frac{7\pi}{4} \right\}$$

$$\boxed{S = 4\pi}$$
